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#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
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#include <string>
#include <sstream>
#include <cstring>
#include <cctype>
#include <cmath>
#include <vector>
#include <set>
#include <map>
#include <stack>
#include <queue>
#include <ctime>
#include <cassert>
#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-"';c=getchar();
isdigit(c)){t=(t<<1l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-";c=getchar();
isdigit(c t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline char get char
char c=getchar();
c==""||c=="\n"]||c=="\r"')c=getchar();
O

inline void write(LL x
register char c[21],len=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-");
x)cl++len|=x%10,x/=10;
len)putchar(c/len--+48);

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXS=105,MAXN=MAXS*MAXS,6 MAXM=6*MAXN, Inf=0x7fffffff;
const int dir 21={{06,1},{06,-1},{1,0},{-1,0}};
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=0
this->to=to;
this->cap=cap;
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this->next=next;

edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0;}//00 0100 [J L]
void Insert(int u,int v,int c
edge|edge cnt|=Edge(v,c,head|u]l);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos|[MAXN|,vis [ MAXN|,dis MAXN;
bool bfs(int k
queue<int>q;
g.push(s);
vis/s|=k,dis|s|=0,pos|s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|ul;~i;i=edgel|i].next
int v=edgel|i|.to;
vis|v|!=k&&edge|i]|.cap
vis/vi/=k,dis/v/=dis/ul+1,pos/vi/=head(v];
g.push(v);
v==t
true;

false;

int dfs(int u,int max flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
int &i=pos|ul;~i;i=edge[i].next
int v=edgel[i].to;
dis|/ul+l==dis|[v]|&&(temp flow=dfs(v,min(max flow,edgel(i].cap
edge|i].cap-=temp flow;
edge[i”1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
Imax flow

flow;

int Maxflow(int s,int t
this->s=s;this->t=t;
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int ans=0,k=0;

mem(vis,0);
bfs(++k

ans+=dfs(s,Inf);
ans;

solver;

int n,m,a[MAXS][MAXS];

int Id(int r,int c
r-1)*m+c;

bool in(int r,int c r>0&&r<=n&&c>0&&Cc<=m;
int main

n=read int(),m=read int();
int sum=0,s=Id(n,m)+1,t=s+1;
Clear();
_rep(i,1,n
_rep jr M
alilljl=read int(),sum+=alil[j];
i+j)&
Insert(Id(i,j),t,alil[]j!);

Insert(s,Id(i,j),alill[j!);

_for(k,0,
int ti=i+dirl[k ,tj=j+dir[k ;
in(ti,tj

Insert(Id(i,j),Id(ti,tj),Inf);

sum-=solver.Maxflow(s,t);
enter(sum) ;

’
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#define

<iostream>
<cstdio>
<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

_for(i,a,b) for(int i=(a

);1

++1)

#define rep(i,a,b) for(int i=(a);
#define mem(a,b) memset(a,b,sizeof(a
using namespace std;
typedef long long LL;
inline int read int

int t=0;bool sign=false;char c=getchar();

<(b);
i<=(b) ;++1i)
))

lisdigit(c sign|=c=='-"';c=getchar();
isdigit(c)){t=(t<<1l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;
inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=='-"';c=getchar();

isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;
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inline char get char

char c=getchar();
==

OF

inline void write(LL x
register char c
I'x putchar('0'
x<0)x=-x,putchar('-"');
X)cl[++len|=x%10,x/=
len)putchar(c|len--

inline void space(LL x){write
inline void enter(LL x){write
const int MAXN= , MAXM=

Ile=="\n"||c=

, Llen=0;

='\r')c=getchar();

’

,void () ;

+48) ;
X),putchar(' ');
X),putchar('\n');
, Inf=0x7fffffff;

struct Edge
int to,cap,w,next;
Edge(int to=0,int cap=0,int w=0,int next=
this->to=to;
this->cap=cap;
this->w=w;
this->next=next;

edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0;}//00 0100 (][I []
void Insert(int u,int v,int w,int c
edge|edge cnt|=Edge(v,c,w,head/ul);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,-w,head|v]);
head| v/ =edge cnt++;

struct Dinic
int s,t;
int pos|[MAXN!,dis[MAXN/;
bool inque[MAXN;
bool spfa
mem(dis, /3);
queue<int>q;
g.push(s);
inque/s|/=true,dis/s/=0,pos/s|=head|s|;
Iq.empty
int u=q.front
inque|ul=false;
int i=head(u];~i;i=edge[i].next
int v=edgel[i].to;
dis/u/+edge/i| .w<dis| v |&&edgeli].cap
dis|v/=dis|ul+edge|i]|.w,pos|/v | =head
linquelv

»q.poptl);
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g.push(v);
inque|v|=true;

dis|[t]!=dis :

int dfs(int u,int max_ flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
inquelul=true;
int &i=posiul;~i;i=edgeli].next
int v=edgeli].to;

linque /v &&dis/ul+edge(i|.w==dis|v|&&(temp flow=dfs(v,min(max flow,edge

i].cap
edge|il.cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_ flow-=temp flow;
Imax flow

’

inquelu/=false;
flow;

void MCMF(int s,int t,int &flow,LL &cost
this->s=s;this->t=t;
cost=flow=0;
int temp flow;
mem(inque,0);
spfa

temp flow=dfs(s,Inf);

flow+=temp_ flow;

cost+=1LL*temp flow*dis|t];

solver;
int x[MAXN],lef[MAXN|,rig/ MAXN], len|MAXN];
int main
Clear();
int n=read int(),k=read int(),m;
_for(i,0,n

lefli|=read int(),rigl/il/=read int(),len[i|=rigl[i]-lef

x[m++|=lef[i],x m++|=rigli];

sort(x,x+m);
m=unique (X, X+m)-Xx;
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int s=m+1,t=m+2;
_for(i,1,m
Insert(i,i+1,0,k);
Insert(s,1,0,k);Insert(m,t,0,k);
_for(i,0,n
lef|il=lower bound(x,x+m,lef[i])-x+1;
rig/il/=lower bound(x,x+m,rig[i])-x+1;
Insert(lef(i],rig/i!/,-len{i],1);

int flow;LL cost;
solver.MCMF (s, t,flow,cost);

enter(-cost);
0;
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#include <iostream>
#include <cstdio>
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#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#include
#define

using na
typedef
inline i

int t=0;bool sign=false;char c=getchar
lisdigiti(c sign|=c=="'-";c=getchar

inline L

LL t=0;bool sign=false;char c=getchar
lisdigiti(c sign|=c=='-";c=getchar

inline c
char

inline v

register char c[21],1len=0;
X putchar('0'

:
X

inline void space(LL x){write(x),putchar
inline void enter(LL x){write(x),putchar('\n'
const int MAXN=305,MAXM=18005,Inf=0x7fffffff;

struct E
int

Edge(int to=0,int cap=0,int next=0

<cstdlib>
<algorithm>
<string>
<sstream>
<cstring>
<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>
<cassert>

_for(i,a,b) for(int i=(a);i<(b);++i)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))

mespace std;
long long LL;
nt read int

isdigit(c)){t=(t<<1l)+(t<<3)+(c&l5);c=getchar

sign?-t:t;

L read LL

isdigit(c)){t=(t<<1l)+(t<<3)+(c&l5);c=getchar

sign?-t:t;
har get char
c=getchar();
C::'
OF

oid write(LL x

<0)x=-x,putchar('-"

X)cl++len]=x%10,x/=10;
len)putchar(c/len--+48);

dge
to, cap, next;

this->to=to;
this->cap=cap;

"||c=="\n"||c=="\r")c=getchar
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this->next=next;

edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0;}//00 0100 (][]
void Insert(int u,int v,int c
edge|edge cnt|=Edge(v,c,head(u]l);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|v|/=edge cnt++;

struct Dinic
int s,t;
int pos[MAXN|,vis [ MAXN|,dis [MAXN];
bool bfs(int k
queue<int>q;
g.push(s);
vis/s|=k,dis|s|=0,pos|s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|ul;~i;i=edge|i].next
int v=edgel|i].to;
vis|v]|!=k&&edge|[i]|.cap
vis/vi/=k,dis/v/=dis/ul/+1,pos/vi/=head(v];
g.push(v);
v==t
true;

false;

int dfs(int u,int max flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
int &i=pos|ul;~i;i=edgeli].next
int v=edgeli].to;
dis|ul+l==dis|[v]|&&(temp flow=dfs(v,min(max flow,edgel!i].cap
edge|il.cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
Imax_ flow

’

flow;

int Maxflow(int s,int t
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this->s=s;this->t=t;
int ans=0,k=0;
mem(vis,0);
bfs (++k
ans+=dfs(s,Inf);
ans;

solver;
int Next[MAXN]|,Pre[MAXN];
int main

int n=read _int(),m=read int
int s=2*n+1,t=2*n+2;
Clear();
_rep(i,1,n
Insert(s,i,1);
Insert(i+n,t,1);

m__
u=read int(),v=read int
Insert(u,v+n,1);

int flow=solver.Maxflow(s,t);

_rep(u, iL,n

int i=head/u!;~1i;i=edge[1i].next

int v=edgeli].to;

v!=s&&edge i .cap==

Next|ul=v-n;
Prelv-n|=u;

_rep(i,1l,n
IPreli
int pos=i;
pos
space(pos);
pos=Next|pos];

puts nnu ;

enter(n-flow) ;

’

Joodgooooon
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#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <algorithm>
#include <string>
#include <sstream>
#include <cstring>

#include
#include
#include
#include
#include
#include
#include
#include

<cctype>
<cmath>
<vector>
<set>
<map>
<stack>
<queue>
<ctime>

#include <cassert>
#define for(i,a,b) for(int i=(a);i<(b);++1)
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#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
#define mem(a,b) memset(a,b,sizeof(a))
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigiti(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar
sign?-t:t;

inline LL read LL
LL t=0;bool sign=false;char c=getchar();

lisdigiti(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c& ;c=getchar
sign?-t:t;

inline char get char
char c=getchar();
C::' '||C=='\n'||c::'\|“" C:getchar 7
o

inline void write(LL x
register char c , Llen=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-");
X)c[++len|=x%10,x/=10;

len)putchar(c/len-- ]+ ;

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN= ,MAXM=5e5+5, Inf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge  MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 000 O
void Insert(int u,int v,int c¢
edge|edge cnt|=Edge(v,c,head|u]l);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos|/MAXN|,vis[MAXN|,dis MAXN;
bool bfs(int k
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queue<int>q;
g.push(s);
vis/s|=k,dis|s|=0,pos|s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge!i].next
int v=edgel[i].to;
vis|v|!=k&&edge|[i]|.cap
vis/vi/=k,dis|v/=dis/ul+1,pos/vi/=head(v];
g.push(v);
v==t
true;

false;

int dfs(int u,int max_ flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
int &i=pos|ul;~i;i=edgeli].next
int v=edge([i].to;
dis|ul+l==dis|[v|&&(temp flow=dfs(v,min(max flow,edgel(i]|.cap
edge(i|.cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
I'max_flow

.
’

flow;

int Maxflow(int s,int t
this->s=s;this->t=t;
int ans=0,k=0;
mem(vis,0);

bfs (++k
ans+=dfs(s,Inf);
ans;

solver;

int al/MAXN|,dp/MAXN|,fIMAXN]|, pos;
int main

int n=read int

.
’

_rep(i,1,n
alil=read int();
flpos=0|=-Inf;
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_rep(i,1,n
alil>=f[pos
fl++posi=alil;
dp/i/=pos;

int t=upper bound(f,f+pos+1l,alil)-f;
fltl=alil;
dplil=t;

enter(pos);
pos==
sort(a+l,a+n+1l);
int ans=unique(a+l,a+n+1)-a-1;
enter(ans);
enter(ans);

’

int s=2*n+1,t=2*%n+2;

Clear();
_rep(i,1l,n
Insert(i,i+n,1);
dpl[i]==
Insert(s,i,1);
dp!il==pos
Insert(i+n,t,1);
_for(j,1,1

aljl<=alil&&dp|jl+1==dp|i
Insert(j+n,i,1);

int ans=solver.Maxflow(s,t);
enter(ans);
Insert(s,1,Inf);Insert(1l,1+n,Inf);
dp[n|==pos
Insert(n,2*n,Inf);
Insert(2*n,t,Inf);

ans+=solver.Maxflow(s,t);
enter(ans);

.
’
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